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( PART : B—DESCRIPTIVE )
{ Marks : 50 )
The figures in the margin indicate full marks
Jfor the questions

Answer four questions, choosing one
from each Unit

UnNimT—I

1. fa] The average age of 10 men is increased
by 2 years when two of them whose ages
are 21 years and 23 years are replaced

by two new men. Find the average age of
the two new men. 4
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(b)

fc]

2. (a)

(o)

ic)

3. [a)

(b}

fc)

G7/178a

(2)

In an examination, there were 640 boys
and 360 girls; 60% of boys and 80% of
girls were successful. Find -the total fail
percentage.,

Find the GCD and LCM of the following :
LS 4
36 9" 27

In a bag, there are coins of 25 paise,
10 paise and 5 paise in the ratio of
1:2:3. If there are ¥ 30 in all, how
many 5 paise coins are there?

Divide ¥ 7,500 among A, B and C such
that A’s share is to B's share is 5 : 2 and
B’s share is to C's share is 7 : 13, How
much will B receive?

Find the coefficient of x'° in the
binomial expression of (x? —2)'%.

unit—II

If @, b, ¢ are in AP, show that a(b+¢c),
bg(c-ra) and c?(a+b) are in AP.
If 7 times the 7th term of an AP is equal

to 11 times its 11th term, show that its
18th term is 0.

Find the 7th term of GP0-4,0-8,1:6, -

L
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(3)

4. (@} For any two positive numbers a and b,
show that (AM) = (GM). 3

(b) Insert three numbers between + and

432 so that the resulting sequence is
a GP. 3

{c) Show that

1x22+2x32+---+nx(n+1)2=3n"+5
12x2+22x3+.-+n2xn+]) 3n+l g

UNIT—l1I1

5. (a) Find matrices A and B if

2A-B=[ aR=o 0]and2B+A=[ 3.2 5]
4

-4 21 -2 1 -7
| 31
' fb) If A= : show that
, -1 2
’ (A2 -5A4+7)=0. 4
x 3 -4
{c) Express the matrix A= S as the
sum of a symmetric matrix and a
skew-symmetric matrix. 4
6. (a) Evaluate : ° 3
2 -4 1
7 2 =3
SRS
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(5]

7. (a}

(b)

fc)

8. f(a)

(b}

G7/178a

(GG A

Find the gofactor of

3 -4 5
1 1 -2
2:F:3. Sl

Using the properties of determinant,
prove that

y+z X 7}
zZ zZ+x X |=4xyz
u X x+y
UNIT—IV
ay

Find —-, when y=x*"% 4 (sin x)*%*.

<o e dY 2. .0
Find —, when x° + -3xy=1.
; y u

From the first principle of derivative,
show that

d :
— (cosx) = ~sinx
dx( x)

Evaluate :
I (sz +2x'5. - X+ -}—_— —g) dx
Jx X
Solve :

: -1
!sm(Ztar; x)dx
1+x°)

wm
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(5)

fe) Evaluate : ‘ =

jcosx cos2x cosdx dx

{d) Evaluate : 5
j(log x]2 dx

* * &
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{ Marks: 25
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SECTION—I
[ Marks: 15)

1. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

(a) The digit in the unit place in (379)2%0 is

()R RN ()
W 1 ()
(i) 6 (s 2
(iv) 2 (e)

/178



(2)

(b} The number which is divisible by one and itself

is called

(i) composite number ( )
fii} even number ( )

(i) prime number ( )

{tv] odd number ( 1

{c) The arithmetic mean (AM) between (a - b) and

(@ + b is

fil a (A
i 1 &
(i) b {9
fiv) 2a 9

fd] The sum of 142+ 3 +---+ n) is cqual to

(1) é—n(n + 1)(2n + 1) ( ]

(i1) %n(n +1) ( )

e [ 12
(i) [5n(n+u} (i
(iv)] n?@2n? - ( )
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(e)

(g

(3)

A square matrix in which every non-diagonal
element is O and every diagonal element is 1 is
called

{ij diagonal matrix i)
(i) scalar matrix )
(it} unit matrix e 4

(iv) null ;nauix (&
The value of |22 €
M 1 ({7

W 0 &=

i) 2 G 3

(v) =2 ()

d :
The value of T {logq X} is

(i} a*(loga) (B)

(ii) ¢
xloga
(e )
X
e )
a
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A

(4:4)

(h) The value of j x~Vdx is

) O ()
S
{ii) 2 +c o)
i) ~+c ()
X
(iv) log x+c )

(1) Iex(tan x + log sec x) dx is equal to

i) e*log (secx)+ ¢ ( )
(i) e*tanx+c )

fiii) e* +ec =5)

(iv) e*sec? x+c ()

(i) The valuc of %(cosSx] is

i) -5sin Sx ( )
i) Scosdx { )
(@i} SsinSx ( )

fiv) —5cosdx { )
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(5)

2. Tick (V) either True or False :

{aj Mean proportional to 8 and 32 is 16.

True | ) [ False (

{b) The series 2, 6, 18, 54, ... is called HP.

True | ) [ False |

dx is cos ! x.

{c) The value of I

True | ) [ False |

(d) The value of —q—(ez"‘} is 2e%%,
dx

True | ) [ False |

{e) A square matrix A is invertible if and only if A
singular,

True ) / False ({
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(6)

SECTION—II
( Marks : 10)

Answer the following questions :

s 5 1

=]

1+
X

14 —
1-x

then find the value of X.
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(7))

2. Find the sum of all odd integers from 1 to 1001.
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3, Is matrix multiplication co

ANSWET.
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(8)

mmutative? Justify your




(9)

4. Evaluate :
4 (sec ! Vx
o (sec X)

I/BCA/102/178



(10)

5. Evaluate :

' 1 ,
ju .‘--éo's’_x)'dx'

e
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